I, Choose one correct angwer §

1, Which of the followix

TN

(&) propane  (B) cvclobutane

Y W 4 o

2. Give the following compounds in

¥ HO,CCH,CHCOH I CH:CHy
HE, CH;CHOH V. CH;CO

(AyLIL I IV EByL IV, IL i (CYLIV

+2.00°.

conceniration of sucrose in ¢/100 mL?

(A)33.2 (B)3,320  (C)3.01 (D) 0.03

4. Which of the following reactions gives a positive iodi

(B) A freshly prepared glycogen solution in water
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(C) A freshly prepared starch solution

(D) Solution C in the presence of human saliva

5. Which of the following compounds are meso corm
1. cis-1,2-cyclohexanediol 1. trans-1,2-
T cis-1,3-cyclohexanediol V. trans-1,
V. cis-1,4-cyclohexanediol VI trans-1,4
(AYLIOLV ®ILIV,VI (CIL IV, vV, VI

6. When isopropy! bromide is treated with sodium et

are formed in a 3:1 ratio. If the hexadeuterois

ratio of CD3CH=CD, versus (CHs),CHOC,Hs?
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(a) a 1,2-addition pathway for the
Balance

5,5-Dimethyl-3-ethoxycyc
(b} a 1,4-addition
Me,CHCHOH + KyCryOq +

3,5,5-trimet
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25 130 135 14
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